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V] Semester B.Com. Examination, May/June - 2019
COMMERCE |
6.5 : Elective Paper - III - Performance Management
(CBCS) (Freshers+Repeaters - 2017-18 & onwards)

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written in English or in Kannada.

Qzen — «/SECTION - A
1. oImmwende 5 IFAR ww3dr. B3 EB 2 VOINW. 5x2=10
Answer any 5 questions. Each question carries 2 marks.
(a) 0O éaiaa:i} ROTTED ?
What is target costing ?
(b) Be0WBeIF BHROT BT VBF RTBODT, FRA.
Give the meaning of activity based costing.

(c) ReD 23 VOT L0TTE ?

a2

What is Break Even Point ?

(d) o asaaa QONTT W, et I RRST 7
What do you mean by standard costing ?

(e) oW —.N ORY TOTToEE Tert FOBLHROINWY 7
How do you calculate Debt - Equity Ratio ?

() wooons HB0H VPFL[OEODIY 50R.
Give the meaning of Transfer Price.

(g) wWom LoRTOD ROT3ER> ?

What is Flexible Budget ?

P.T.O.
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KPR - W/SECTION - B

o3RFente 3 %%ﬁ@r‘? WSOX. TE :'33;1 6 ©oIM. 3x6=18
Answer any 3 questions. Each question carries 6 marks.
AOOTTTOONT wzuam WYY wWepwmeiE =reoy wZSFmrt: STV :Ls;z.x’ﬁ%ia’nﬁl 2.

State the deference bctwcen Traditional COStan' and Activity based costing.

3 S9NT BPWEOT :
(a) B g FFow
(b) 3 &3 IZob Ty

() T Zegs DB CBAY, TOELAWO

- 5
o o A

&,& noednsd 4000

WO NOLN 35000

3% 3970 X 3 T8 rloen
WORW BROTY I 250 B8 riotdn

Using the following information, calculate :
(a) Labour Cost Variance

(b) Labour Rate Variance

{c) Labour Efficiency Variance

Standard hours 4000
Actual hours 5000
Standard wage rate < 3 per hour
Actual wage rate < 2.50 per hour
%;e NS TN o r::r{ RO OIS
wPTVE WS TS ohReTT T 100
WHoRTS Feg TS che T T 80
Egpd a"’oz%ﬁ%i} < 3,00,000
BOTDL RO
(a) xmm% ROW: chrlrnigd DR d;a_pg
(b) 2.0TH Beg FzP2E LWoDIR, 4000 OBPIFROE o= LRBTON Bpoo: 58
B0mBRO, 3
The following 1nformation relates to a firm
Selling price per unit < 100
Variable cost per unit T 80
Fixed cost ¥ 3,00,000
Find out.

() BEP in units and in amount
(b) Find out selling price per unit if BEP is brought down to 4000 units.
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5. ®aRFHcd 10,000 SR eOTTHE0DN YOWR KN F9TOBOST ¢
23 QTSN : B BeFR R)
TN 140
39 50
LTI e R[BNRY 40
33 heen FEnes [ 2,00,000) 20
@R Debrnise (3¢3) 10
oo wegnes (10% %d) 26
NBTH PPN (20% 2T) 14
swes SEgne: { 1,00,000 33) 10

310
8,000 CHheELETY 203 SoRRODTWE:, SAIWOR.
The expenses budgeted for pi:oductf('m of 10,000 units in a factory is furnished
below :
Elements of cost Cost per unit ()
Materials 140
Labour 50
Variable overheads 40
Fixed overheads (¥ 2,00,000) 20
Variable expenses (direct) 10
Selling expenses (10% fixed) 26
Distribution expenses (20% fixed) 14
Administration expenses (X 1,00,000) fixed for all level 10

310

repare a budget for the production of 8,000 units.
6. TUNT TRLENVOT Py WHVT WONTL, F0BHEC0.
4

(a) DOH TI3e3 Ny 90,000
(b) chosre mTS By 3,00,000
(c) BOFPFNE BoRNF B, 2,00,000
(d) oho3RY wmoed Wy 4,00,000
(e) ATFITH DR, ﬁ&%@ :3&?“ 1,15,000
(f) #oRONNRY BR WoPORF 3% 1,50,000
303, Bowd UTR r

{i)w 00D BTeBNY ﬁoaﬁé 50
(11) mﬁmw ﬁo&ﬂﬂ 200
(iii) SHOWDT BRLFNT ﬁo&iﬂ 5,00,000
(iv) :Ut;:iﬁei ﬁoaﬁﬂ 4,000
(v)] SEodnEths moshny JoM 100
(vi) *OTRARE BX RS O 500

P.T.O.
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From the following calculate cost driver rate

4

(a) Purchase order cost . 90,000
(b) Material set up cost 3.00,000
(¢) Product packing cost 2,00,000
(d) Machine testing cost 4,00,000
(e) Maintenance and cleaning cost 1,15,000
(f)  Material handling cost 1,50,000
Cost allocation basis are -
(i)  Number of purchase order 50
(i) Number of setup 200
(iii) No. of packaged packed 5,00,000
(iv) Number of Test 4,000
(v)] No. of batch run 100
(vi} No. of time materials handled 500

«pen — %/SECTION - C
cIRRmRnce 3 @3nier wEor. T3 T 14 wodries. 3x14=42
Answer any 3 questions. Each question carrics 14 marks.

7. 0T ToTACSD 2 THRNYE & 39807 < ﬁO’ﬂ’%jE”\_;\ BT

Q=T 31.3.18 31.3.19
WIOTOES < 16,20,000 < 18,00,000
o3 < 36,000 < 90,000
FOT&LRD

(b) 30 B8
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An Industry Reports the following Information for 2 consecutive years

Particulars 31.3.18 31.3.1¢
Sales 16,20,000 _ 18,00,000
Profit 36,000 90,000
Calculate :

(a) P/V Ratio

(b) Fixed cost

(c) Sales to earn a profit of ¥ 6,00,000

(d) BEP in amount

{e) Margin of safety at a profit of ¥ 1.44,000
(f)  Profit when sales are ¥ 20,000,000

(g} Variable cost for 2 years

8 1-4-2019 Cot TowWROR weUoRs S I 32,000 VRS -&RT 2019 T IDLI
3 Son¢ Inh BeNE TI[IY, FodmOR & N Bp&HINTD, VeBSNS
onh TRowis yleldaTsiy 2RO ﬁagﬁ%

”) &

BUMAS 70,000 44,000 6,000 5,000
BRI 80,000 26,000 9,000 6,000
AL o 96,000 60,000 9,000 7,000
e 1,00,000 68.000 11,000 9,000
WRT 1,20,000 ©2.000 14,000 9,000
©33 TSN
(2) WRGITRTSR 2 don¥ =T STL LeRTITT.
(b) BRTHWT 25% O INTL TROE T RITON 1 0NY MOT SR VWSO,
(c) BRD B [Pne =IIcL woeET 1 2onwk.
(d) o8 9HB T 28,000 Soon 01ichw:, BAT 2019 3 BRTBOLY BSRCING,

P.T.0O.
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A manufacturing company is expecting to have ¥ 32,000 cash in hand on
1.4.19 and it requested you to prepare a cash budget for 3 montihs April to
June 19. The following information is supplied to you.

Months Sales Purchases Wages Expenses
() ()

February 70,000 44,000 6,000 5,000

March 80,000 96,000 9,000 6,000

April 96,000 60,000 9.000 7,000

May 1,00,000 68,000 11,000 9,000

June 1,20,000 62,000 14,000 9,000

Other Informations :
(a) Period of credit allowed by supplier is 2 months.

(b) 25% of sales are for cash and the period credit allowed to customer
is one month,

(¢) Delay in payment of wages and cxpenses is one month
{d) Income tax ¥ 28,000 is to be paid in June 2019.

9. OTH THRODHAT 0TLT Todwed DB
40% TRBEAD A T40 T3 W
60% BeBERd BT 30 =8 o

-~
WLoNY 10% I, B S5 dOeBICN.

WIRWT ToFRA, Fednied
- i

90 &5 Toegrnw A T LR T42

o1 2edF AVONPT oy N, HYODNIE, FoE LAWY,
The standard cost of a certain in chemical mixture is :
40% materials A at T 40 per ton

60% materials B at ¥ 30 per ton

A standard loss of 10% is expected in production. Actual cost of materials
used is :

90 Tons of materials A at a cost of T 42 per ton
160 Tons of materials B at a cost of T 23 per ton
Actual output is 230 tons.

Calculate all material variances.
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10. 2.0 waRFIcHY 10,000 chadirnd moonz WOBTIN BNV ﬁzgﬁesfa’nd A=at

ﬁfaéiﬁ' : N N
T2 cHheIER (3
ROERNAED ; 70
PAVADLe) 25
WO sheew Wedreh 20
Aoseen Sned € 1,00,000) 10
=3 Begned (T83) 5
00D PRt (10% A0) 13
DITH Bugrieh (20% 4,9) 7
©BEYY BERw (€ 50,000) 5
L, 35 T8 ohwedtrn 155

8,000 ohweles W 6,000 0DeRiFT 3Ren jaiﬁ?mgl BRORT ®NONE T3
BOIPOY WB TS ohedeFR Inens :{ﬁmi X 30edA.

‘The expenses for budgeted production of 10,000 units in a factory are
given below :

Per unit (%)

Materials 70
Labour 25
Variable overhead 20
Fixed overhead (X 1.00.000) 10
Variable expenses (direct] S
Selling expenses (10% fixed) 13
Distribution expenses (20% fixed) 7
Administration expenses (X 50,000) S
Total Cost per unit 155

Prepare a budget for production of {a) 8,000 units (b) 6,000 units and
(c) Indicate cost per unit at both the levels.

b) ™o ﬁ&a‘mgw Eo&iﬂ’%ﬁm& .
(a) What are the objectives of Environmental Accounting ?
(b) State the steps in target costing.

-00o -

{l

70

P.T.O.




